
[bookmark: _GoBack][image: ]







[image: ]







[image: ]






[image: ]






[image: ]






[image: ]







[image: ]






[image: ]






[image: ]






[image: ]






[image: ]






[image: ]

[image: ]






[image: ]
image6.jpg
Question

. 1 Marky

Traas these s s racns o LSt

Questian s





image7.jpg
R Doty RN OresSeare ot
Faculty of Computer & Info, & fovare

Devclopment (SEAT )
Software Engineering Dept. . 1

Date: 24 May 2015
3rdyear Final Exam (B =) 1, MR8

Total Marks: 60 Marks =)/

=" Total Pages: 1 Page
Ansner the Following que
Q1. Complete cach space

15 Pains]
1. Thefst supportta L came o ot e
2. Ton Roosendual i he BDFL o
3. The euion bevween Linux sd G
4. work ncludes majorcopyrishtproteciad eaneas of an crginl previns o
5. Opensowce s a e wilds & mas of suppar e 5 Sven
et estabihes i el standad . o
6. Richard Stalloan poposed the Free Sotware Dy ein__ofspec
7. Mhelbof this cours used _ veron cont i ompute
8. Synttome i the tendency tomwards remvntin e
9. i  documentaton oo, bt i ca b comsi onsevice
10:Th 4 ight i open souse rihissics Souree Code
1. ishaving opesoftware (ht e e
12 s acommunity for Linon s
1. Rt Eawsuits Agsinst helped i propss - v
14.The s cormpany (0l 5 soee. e
15101976, B Gates poblihes The
Q2. List each of the following 15 Pains]

1. The  Freedoms sccording 1 Richard S
2 jestions 10 st  FOSS proje

5. The  sevies ofadisebuid SO

5

Thce Chulenges t0 OS5
Towo L diseoes with st adberence

FOSS prnciples

Q3. Draw cach of the following.
FOSS process data dgram

Lin imeline showing relaton 0 (Ui, Misi, GNU, and 151

Aoy igure o show the estion bemeen (Traaks, o

115 Points]

Q4. Compare between each of the folloming pairs
cathedeal and Bazar development (3 o conce

GPL& BSD lienses 1

sbranch and o fork

el model and gile £ apes-surss prjecs

Q5. What are your expestations about th future of FOSS? Points)

With my best wishes of sccess Br- M. A Eldosuky





image8.jpg
e

B recily of Compuesinformacion
Operating Systems(CS3:
Date: 28 /572018 Time Three Hours

0172018

Second - term Exam

Answer the following questions

Q1. Give theseentii Term

L 5 & system that allows mors than one ctive user
ProBras 0 b storein i memry simullancously

2 _ at creues the illsion that esch process is
ERSSUling on s own procsesor with s own ey

3 ___ iswiteing the CPU among several proceses 10
make e compater more peoductive

o refers o th idea tht iy

SRSt o commit 03 Getainsequcace of cton

s s a mumber of computens that are connccted and
mansged (o auomascally share the job processing load among e
consituent compulers. wers should ot b sware of where their
programs ar being rn.

o i esponsible fo llocing pimary memory 0
processes and o ssisting the programinc in leacing and worn e
contents ofthe peimary memory

7 5 the amount of fime bemmeen o req
Submitcd and the st response i produced s called 1

s occurs when a st f processe, cach holdin some
Peouees, cach equesling some fesaures, and nonc o them i 301 e
obtain what it e

9 isthe data stctue wcd by the operting sysiem 0
Sior the mapping between ogicladdrsses and physica

0 = Badvare or 2 sofm
dieaesthe st of s common resouree.

variable whose value

2,20 points)
) Howa proces teminsted? <
) Compare beeen process i tread
&) List with b xplanation opring ysem sevices
& What is th diffrence beoween clncaerver

suueture ofan 07




image9.jpg
Fusilyof Compuers&lnformation  Yes

Operating Systems(CS322) Second - term Exan
Date 28 /572018 7
| 01,8 points
Given memory parions of 100K, S00K. 200K. 300K, and

ow would ah of the First-t, Best-4, and Worstfu
possbl)plce processes of 212K. 417K

12 0
Conside the following se o processes, with the gt of the CPL burst given
i miliseconds. The procesesare asumes o have e i the crder P, P2,

P3. P4, PS all st ime 0.

(@) Drav Gan:chars that szt
following scheduling sigorfms: mon-preempive prority (2 sl prioiy

umber implics ahighr priity . and R (oaniom - |

(6) Whit i the average turnarouad fime snd the average waiing tine

cach of the scheduling algorituns?

Vo B
. .

Je o /3





image10.jpg
i





image11.jpg
e s b ek

SR A

i e L —
s reirenens docsment
ke s he e o e

e ' oched o8 s o e it for e b b
ke st abot yoe b2

[ ———
S -
——

e TR ————
v i

e [sasasen sy S w0

o e T T
1 o e T T T

P ey

T o o

e R—
up diagram of a patient-doctor relationship.

ey

e —





image12.jpg
i of ek oo ot et
ek o
e
e
T

1 Marks]

A e T ———

7 i

o I

gy o lowing s b3 it h i
cionof s projet?
orthe s et Show sk he s i o e chir.





image13.jpg
s e 10105 ctstanin s e ssront i 7.

e P

e h et o o coy. T e
e e e To i chacks et e f ok s
arawer eha the oy aces o he esred sl 1
s nthelensog s
s okl s copes v emeved o ccnion i s
e e When s of e boo e r e by e oy €51
e copes e onihe
sk e 8

o i AT




image1.jpg
(10Marks)

(5 Marks)

e spproprate fo 3 ncwork address range o





image2.jpg
Dss sl o VPN, descbin how VP g o,

Gty
Question number two: (30 Marks)

* st how routing wble recogize the charging . e nervor 1
Sxh sage of the following: Preconvergence,
Postconvergence.

Mideonvergence,

. Mention the actorstha affo the capability to clcute routes or cach of
the following protocet (0Mar)
RIF, Con

G, [ EGRr B

& NeBWork ID of the first submee: 19216810, Number of necdd submeints
submet: Number o needed hosts incachsuimet 30 bost
‘Calculate Network 1D Host Range,and Brosdcast Addrcs ofeach subet
Mok
& True or e withcomection ke
. Therear brondeast addresses in I
2. In the cient-server model of applicaion arcitctre, he ports that
network dlints connec o o servic nitiaion proide s mpesing
3 1GPs are e i routing between nancts

e What e the ollowing companent of packets hader s s fr
Narky

Best Regards
§ e




image3.jpg
ol

Kafrehheikh University, 220 wab o
DR\ e

prickmmabieidl (| T
S year P B J 3

ol Mo 0 Marks =) To

Miay 20

Paze 2 Page

Wi
azincrinsSE02)

e Alowed: 3 Hours

Rnswer (he Following aueslions
Q1 Determine iFeach of the ollowing sentence i True or Fabc
1) XMLRPCS dilfcut o pass anabjct 35 a arguen
2) The header of ISON Web Tokens conans e cins
3) Web view is the part where you applcaion
) Error 404 s  server et
5) BLOD data type can have defi coum v
) Tonic comes wih buin devlopment server
7) A1l XML clements must have aclosig
) HTMILS Delves i content sitbout e

S Bl s o St orn e o
TDMTMLS & ot b SCAL
Q2 Chiose the orros anener among . <
O st e i P ,
o 53 S
o Dol e o e
Vb RS0t NSO sever
5, EANEADE, ey e g s s
S O
&
enmion | Diaion oot
e o e i s o o
o Vi e
e NET Famcvo. wiot AST AT
ool S b
6 "2 e ide mankp o
S X
Tebachse o or

7. R secare web sstem st
2 confdentaliy

5 The ramenork tha i &
- Django.

DB o okt youwant o e XL oo SO
o henJsoNispototiret i
B o esdmesoge v S

& when you el 0 5¢
B Never, 50N is wolds

10/ Web nsreepion 011
N eondentaity ¥

10 poios]

atriaon





image4.jpg
u

Q10 o5k g i sty e
1T el i o Apie a1 con,
S e e T e oo,
3. s h populr FTMLICSSS raeuen e PSS i
4. ... technology is an internet communication- wmﬂw i v web projee,
{euetisgenersted by the o) e e
s ) S
e - without reloading the it po o
s
lingage
7 Thers e 2 s ofveb sevics
B Gesries s websrvi
Tt o he s
B e i

10 oimg

4RESTFUL
d specifie the locati

c1SQL commands o
SQL siatement, via v paze input.

10:Web Accessibilty Guidelne 2.3 et d st that Do ot dsign
content in.a way thatis known 0 cause iz Y

Q4 Lisc 10 Points]

) The Top 10 Mistakes of Web Design
b) The 4 REST principles

) The 4 principls that provide the foundation for Web accessbilt
) The 2 essential approschesfor eryplography

QS Draw each of the followins 100 Paine]
a. Activity disgram of Online Registered system for any web app
b Tworlayer web architecture

Q6 Use HTML and PHP 0 10 Poins]
") create a web page with the following form. The button makes i 20 10
another webpage that prins the name

i e—

= mails]

[ Sonmi |

b) draw a 15-puzze by lo
0jog,'Lipg' - 101502 - The

ading images 25 showa to the right. The images are
' 2 mage i show o the e

FRENIT)

12013 14115

<cho ane break before teration tai s divisibe by 4

Hint: use for lop anct
M. A Eldosiky
Wil my best wisher of wiccess oM A

Page22





image5.jpg
Answer the fllowing
Qustion 1




